

### Introduction:



Kagzi lime (Citrus aurantifolia Swingle) belongs to family Rutaceae, originated in India. It is commercially grown in tropical and subtropical region of India. Kagzi lime is the third most important fruit after Mandarin and Sweet orange and India ranks fifth among major lime producing countries.

### Usage:

Kagzi lemon use for fresh fruit as well as pickle purpose. It's also useful for making juice, RTS, Squash. Ornamental use: The plant is used for ornamental purpose. Medicinal uses of Kagzi lemon are rich in vitamin C, minerals and salts. The plant is used for ornamental purpose. The Kagzi Nimboo or Kagzi Lemon Plant produces citrus fruits, better known as lemons or lime fruit. They are edible. They are used for culinary purposes also.

## Cultivation:

In India Andhra Pradesh, Maharashtra, Rajasthan, Madhya Pradesh & Gujarat the prime areas of Lemon cultivation in Gujarat. Temperature -Land: Uniform Cold & Hot weather are most suited to Kagzi Lemon crop. In Heavy rainfall areas infestation of pest disease increases. All areas are suitable for Lemon cultivation.



## ➤ Species:

**C**itrus fruits are members of the "Rutaceae" family which contain more than a thousand species mostly found in tropical region of Africa, South-East Asia and Australia. Variety is often referred to as Kagzi lime in some parts of India and is grown extensively all over the state.

# Marketing:

**C**itrus fruits being perishable in nature need to be handled delicately and hygienically. Sweet oranges, limes and lemons remain fresh under ambient conditions and hence can be transported to distant places for marketing. More care and attention is required for mandarins during handling and transport.

## Harvesting:



**G**rafted or layered or budded plant start fruiting from third year after planting. Fruits of sweet orange are harvested when colour break takes place. Lime and lemons are harvested when matured but still green.

# Economic of One Acre Kagzi Lemon Cultivation:

### **Expenditure:**

Distance (in acre)	Sapling (in land)	Cost (per plant)	Total	Other Expenses (As Per Requirement)	Cost of cultivation
12*8 ft	460Plant	65 Rs.	460*65 = 29,900 /-	Fertilizers Land preparation Labor expenses etc.	29,900 /-

Total Cost of Cultivation: 29,900/-

#### Income:

		buy-back	Total
15 kg	15*460 = 6900 kg	10 Rs	6900*10 = 69,000 /-
20 kg	20*460 = 9200 kg	10 Rs	9200*10 = 92,000 /-
25 kg	25 <mark>*4</mark> 60 = 11500 KG	10 Rs	11500*10 = 1,15,000 /-
	20 kg	20 kg 20*460 = 9200 kg 25 kg 25*460 = 11500 KG	15 kg 15*460 = 6900 kg 10 Rs 20 kg 20*460 = 9200 kg 10 Rs

Total Income: 2,76,000/-

# ➤ Technical Support & Services:

We also provide technical support for farming. Our Service Department with technically qualified staff provide after sales service and farmers advisory services to our customers to get better plant establishment and faster growth of Herbal and Horticultural plantations.

We have largest network of employees who deliver Plants to customers at their door steps. Free technical services to customers on planting method, management practices and plant protection measures. Our teams of Agricultural Experts periodically visit and supervise the plantations and suggest necessary guidelines to get better growth and higher returns. Services:

- 1. This includes Supervision, consultancy, guidance, Transportation cost first year.
- 2. First production start after  $3^{nd}$  year and every production start in every 1 year.
- 3. Buy back agreement of Kagzi Lemon.

4. The income expenditure indicated by the company is an approximated figure, as it also depends on the nature and hard work of the farmer

## ➤ Terms And Conditions:

- 1. For 1 Acre plantation the cost of Plants is Rs. 29,900/-, out of which 50% has to be paid before the cultivation and the remaining half after the planting is done.
- 2. The Buy Back Agreement Stamp paper of Rs.100/- has to be stamped by District Court of your area.
- 3. For 10 Acre or more yield the buy Back Agreement Stamp Paper will be of Rs.500/-.







# ("Look deep into nature, and then you will understand everything better")

### For More Information Contact Us:



#### MAATITATVA AGRO INDUSTRIES PVT. LTD.

GSTIN: -23AANCM8802G1ZF

Reg. no: -U01409MP2020PTC053148

ISO 9001-2015 CERTIFIED

Plot No: 622-623, Scheme no: -114 Part-2, Ring Road Bombay Hospital nearby Bharat petrol Pump, INDORE, MADHYA PRADESH (INDIA)

Booking No: - 9926737937 Complain No: 0731-3555875 Service No: - 9926707367 Helpline No: 9926737767

Contact Number: +91 9926737767, +91 9926737937, 0731-3555875

Email:maatitatvagro@gmail.com,

Website: www.maatitatvaagro.com/ www.maatitatvaagro.in

/maatitatvaagro

/maatitatvaagro

🔼 /maatitatvaagro

"MAATITATVA AGRO INDUSTRIES PVT.LTD OF COMPANIES" was established in the year 2019 in Indore - Madhya Pradesh (India). The company is growing at a rapid pace under the farsighted guidance of highly skilled professionals. Besides, we also deal in "Contract Farming". Our experience in cultivation, marketing of plants and seeds enable us to assist the farmers in the best possible manner. Consequently, we have earned recognition in the market. We Have deal in herbal powder, Dry Herbs, Herbal Product, spices ETC.

Thank you